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Section 11.2 Objective: Special Right Triangles Notes

How do I find a missing side of a right triangle?

Use the WAMM find the length of the hypotenuse for each right triangle.
Express your answers in simplest radical form.
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There are 2 triangles that when yvou do the Pythagorean Theorem with them you will always get the same
ratio.

45°-45°-90° Right Triangles:
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Now let’s mix the two types together. First you
you can use the pattern to find the missing sides.

Examples: Find the value of each variable.
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need to decide which type of special right triangle it is. Then
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